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Exercises

The following sentences contain verbs created from nouns in accordance with

the process described in Section 2 of this chapter. Describe Lhe meaning of each
: of these new verbs. ' -

: 3 — ‘ l__}. : a) We techno’d the night away. _

FF - ] : : b) She dog-teamed her way across the Arctic.

' : ¢) ‘We MG'd to Oregon.

d) You should Band-Aid that cut. . !

e) He Tigered that putt. : . |

f) We Greyhounded to Columbus.

g) We'll have to Ajax the sink.

h) He Windexed the windows

i) You should Clairol your hair.

i) Let's carton the eggs.

i
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2. Using the examples-in the preceding exercise as a model, create five new verbs from
nouns. Build a sentence around each of these new verbs to show its meaning.

3. Which of the following forms are possible words of English? Show the words to
an acquaintance and see if you agree on your judgments. |

a) mbood e} sproke
b) frall £) flube :
c) coofp g) wordms . ;'

. |

dy ktleem h) bsamn

5. Part of linguistic competence involves the ability to recognize whether novel
utterances are acceptable. Consider the following senfences and determine which
are possible sentences in English. For each unacceptable sentence, change the
sentence to make it acceptable, and compare the two.

a) Jason’s mother left himself with nothing to eat.
b) Miriam is eager to talk'to.
¢) This is the man who I ook a picture of.
d) Colin made Jane a sandwich.
e) Is the dog sleeping the bone again? <-\\“m
f) Wayne prepared Zena a cake. '
g) Max cleaned the garden up.
- h) Max cleaned up the garden.
i) Max cleaned up it. '
j} -Idesire you to leave,
k) That vou likes liver surprises me.

6. -Consider the following sentences, each of which is acceptable to some speakers
of English. Try to identify the prescriptive rules that are violated in each ease. :
a) He den’t know about the race.

b} You was out when I called. '
¢} There’s twenty horses registered in the show.
d) That window’s broke, so be careful.
e} Jim and me are gonna go campin’ this weekend.
fi Who did you come with? . '
"¢} 1seen the parade.last week.
h) He been lost in the woods for ten days.
i) My car needs cleaned 'cause of all the rain.
i} Julie ain’t got none.
k) Somebody left their book on the train.
-1 Murray hurt hisself in the game.

%

What is the reaction of linguists to the claim that sentences of this sort are
“wrong”? :




Exercises

L

Inh order to become moOI¢ aware of the differences between spelling and pro-

nunciation, answet the foltowing questions about English spelling. (Refer to

Section 1.) ' ‘ :

a) Find four words that show four alternative spellings of the sound {f].

b) Find six words that have the Jetter <a> pronounced differently.

¢} Find four words in which different groups of letters represent only one sound.

d) Find two words in which two different sounds are pronounced but not
spelled out. :

_ How many segments are there in the foliowing words? (Refer to Section 1.2.)

a) at ¢} psychology =
b) math fi knowledge
. ¢) cure g) mailbox

d) hopping hy awesome
Is the first sound in each of the_foliowiﬁg words voiced or voiceless? (Refer to
Section 2.1.) :

a) though ¢} form e) 7oom g) pan
b) thought d) view ) silk h) boat

et e




i) huge k) judge m) when {rmgy vary) 0) pneumatic
B choose I} buns 1) phetlo p)} winced

. Using the words presented in question 3, state whether the last sound of each

word is voiced or voiccless.

. For each of the following pairs of sounds, state whether they have the same or a-

different place of articulation. Then identify the place of articulation for each
sound. (Refer to Section 4.)

a) Is]: [ e) [m]: [n] ) [b] - 1f]
b) (K] : 1] o D Lzt (] D R [d3]
o [pl: g & 1ff - [h] k) [s] - [¥}
e W) 8l

. For each of the following pairs of sounds, staté whether theéy have the same or

different imanners of articulation. Then identify the manner of articulation for
each sound. (Refer to Section 5.)

a) [s]: [0} e) [ : [t H 1 [w]
b) 1K} : [g] f) @] i (] [d3)
o {wl: i 9l Kk [h]:[2]
d) [ :[f] h) [m] : [n] ) [7):[d3]

. After each of the following articulatory descriptians, write the sound described in -

phonetic brackets. {Refer to Sections 4-6.)

a) voiceless velar stop e) voiced velar nasal

b) wvoiced labiodental fricative fy voiceless interdental fricative
<€) voiced alveopalatal affricate g} high back rounded lax vowel
d) voiced palatal glide h) low front unrounded vowel

. Which of the followihg pairs of words show the same vowel sound in your

dialect? Mark each pair as same or different. Then transcribe the vowels of each
word. (Refer to Section 6.)

a) back _sat height
b) cot . caught heed
<) bid key cook
d) luck flick fit

e} ooze deuce own
f) cot . court port
gy feil fail. . COW

. Using descriptive terms like sibilant, fricative, and so on, provide a singie phonetic

characteristic that all the segments in each group share. Try to avoid obvious
answers such as “consonant” or “vowel.” (Refer to Sections 4-6.) Exampie fbdg

1 m j] are all voiced. ' 5

a) fptkg?l = e [adval ) D limnynjw]
b) [ieea] H hil iy tdlinsz]
¢) [tf3[d3] g luc] Yo

d) [pbmfv] h) [sztfd3f3]




10.

11.

12.

13.

14.

15.

Transcribe the foltowing sets of words.
scribing aspiration. (Refer to Sections 3.

a) tog

by kid

¢) attain
d) despisc
e) clbow
fy haul
g) juice
h} thimble

Using H, Ls and association line
English phrases. Compare your
mates. Are they the same? 1E they aren’t, disc

as emotion ot speech context} might account

{Refer to section 8.1.)
a) "Hi, Alice.”

' b) “Three people g0t off th
¢) “My uncle likes to mountain c}imb.
Mark primary and (Wh
is not necessary to tran

a) sunny

-b) banana

Q) blackboard
d) Canada
e} (to) Teject

Find a fluent speaker

cally ten words of that

are not found in this
then invent diacritics

Name the articulatory proce

ere present) sec
scribe them. (Re

”

f) arrive
g) defy
1) sumumary
i) Canadian
i) (a) reject

of a language other t
tanguage. 1f you en
chapter, attempt tO
to help you fransctib

5, tramscribe
the transcriptions of several class-
uss what aspects of intonation (such

results with

g respansible fort

You may use these words to practice trag- -

5 and 7.)

wi) -peel q) spell

) stun " 1) cord
k) Oscar s) accord:
I) cooler t) astound
m) sigh uy pure

n) hulk v) wheeze
0) explode w) remove
p) tube x) clinical

the intonation of the following

t for the differences in trapscription.

e bus at the last stop.”

ondary stresses on the following words. 1t
fer to Section 8.3.)

k) secret

1} exceed

) summery

n) Canadianize
0) difficult

han English and transcribe phoneti-
anter any sounds for which symbols
describe them in phonetic terms and
e them. (See Tables 2.28 and 2.29.)

he change from standard Spanish

to the dialectal variant in each item below. (See Section 9.3}

a) [poBrel —» {profie)

b) [grasjas]

u.s. southwestern

fgrasial (Caribbean Spanish) ‘thank you’

Spanish) poor’

—
¢) [gatito] -5 [gatiko] {Costa Rican Spanish) Kitty’
-

dy [karne]
¢) [pesos]’

-
f) festomayol - festoyamo] { X

- [kanne] (c

{pesgs (Me%an Spanish) ‘pesos’
!

ubary Spanish) ‘meat’

southwestersl Spanish) ‘stomach’

2 i_alﬁrisjas] — {aﬁfisjas} (U.$ soul hwestern Spanish} ‘gift, reward’

Compare the careful speech and raph

speech pronuncia'tions of the following

English words and phrases. Then name the process OF PIOCESSES that make the

here. (Refer to Section 9.)

a) inmy roorﬁ
b) 1Isee them

o) Isee him

d) within

e) balloons

f) careful

'g) sit down

h} my advice

i) Scotch tape

i protection

k) hand me that

Iy Pam will miss you

Carefil Spee;th

‘ [In maj mm]

[aj si Bern)] |

[aj si bam]
[wibin]

{boalunz)
[kherful]

[sit dawn]

[maj advajs)
[skatf tPejp]
[powtPek(n]
[hend mi Deet)
[peem wil IS jul

rapid speech pronunciafion different from the careful speech. Stress 13 omitted

Rapid speech
[im maj Tum}
{aj siom]}

[aj sism]
[widm]
[blunz)
[Kbe1fl)
[surawn]
[maj avajs)
[kbatfstejpl
[pthekmi
[h&midaet]
[p&ml,mlj”]a]

"

e

e
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Appendix: ' .
Hints for Solving Phonology Problems

The task of solving a phonology problem is made easier if certain facts presented in
this chapter and summarized here are kept in mind. The data that we consider below
are taken from Tagalog (Filipino), a language spoken in the Fhilippines. - '

i. In the following data, consider the phones [h] and [?] and determine whether
they contrast, or whether they are allophones of one phoneme.

a) kahon ‘box’ d) 7ad ‘property’
b) had? ‘king' &) humagos “to paint’
¢) tumagos ‘1o [low’ ‘

In order to determine whether the phones contrast, we begin by looking for min-
imal pairs. These establish which segments are contrastive. For example, in the data
in a) through €), a minimal pair occurs in items ¢-€; b-d is a near-minimal pair.
The existence of minimal and near-minimal pairs of words indicates that [h} and
[7] contrast. Therefore we can conclude that /h/ and /?/ are separate phonemes.

2. Now consider the f(:)liowing daté,, and determine whether the two sounds [d] and
[c] contrast or whether they are allophones ¢f one phoneme.

a) datin . ‘to arrive’ f) daralin ‘will complain’

b) dami - ‘amount’ g) marumi ‘dirty’

¢) dumi . it n)marami - ‘many’

d) darati ‘will arrive’ i) dalig ‘4o complain’ -

€) mandu_fukot ‘pickpocket’ i) mandukot ‘to go pickpocketing’

Since there aré no minimal pairs in the data which contrast [d] and [¢], we proceed
to check whether the two sounds are in complementary distribution. Normally,
when fwo sounds are in complementary distribution and therefore allophones of '
one phoneme, they must be phonetically similar. In Tagalog, [d] and [z] are both
voiced alveolar segments; thus, they are sufficiently similar phonetically to be
viewed as potential allophones of one pboneme.

To check whether two (or more) sounds are in complementary distribution, the
best thing to do is to list the environments in which the sounds occur:

[d] occurs: ' - 1] occurs:
_word-initially {e.g., dami) - _between two vowels (e.g., maanti)

_following a nasal (¢.g., mandukof)

. A
[d] never occurs between two vowels, and [(] never OCCurs word-initially or fol-
lowing a nasal. Since the two sounds never oCcur in identical environments, they
are in complementary distribution and their distributions are predictable.

3. If two potential allophops of one phoneme are in complementarﬁr distribution, we
can be reasonably sure f hdf they are allophones of one phoneme. We can therefore
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make a general statement about their distribution, in terms of some natural phono-
logical class. For example: Tagalog [d] and [f] are in complementary distribution -
and aie allophones of onc phoneme. The allophone [z] occurs hetween vowels; [d]
occurs elsewhere—here, word-initially, as in items a), b}, ¢), f), and so on, and after
nasal consonants, as in items e) and j).

4. Once we have determined that two sounds are allophones of one phoneme, we
need to determine what the phoneme that they are both derived from is. Usually-
this can be done by selecting one of the allophones as basic. In most cases, the
allophone chosen to represent the phoneme is the one with the widest distribu-
tion (the elsewhere variant). In the Tagalog case, the elsewhere variant s {d}, so we
posit the phoneme /d/, which has two allophones, [d] and [1]. It may be helpful to
set up a traditional phoneme-allophone diagram to illustrate this (see Figure 3.2).

1a/

[r/\[d]

Between vowels Flsewhere

5. Now that we know that [d] and [c] are allophones of the'phoneme /d/, we need
to determine the phonological rule that accounts for the predictable features of
‘the other allophones. Our rule is probably correct if it describes a common lin-
guistic process {such as assimilation) in terms of natural classes of sounds inter-
acting with neighboring segments and/or syllable structure.

For example, for the above: dos/V_V
The process at work here is a form of assimilation, in that an underlying voiced
stop consonant becomes a continuant when found between two continuants
(vowels). :

6. We can assume that segments are phoneinic if there are no minimal pairs for
them but they cannot be shown to be allophones of one phoneme. In such a
case, we can conclude that the data simply did not provide minirnal pairs.

Exerecises
Assume phonetic transcription of the data in all exercises.

1. Inuktitut (Eastern) (Native Canadian)
The data here are in a relatively broad transcription.

a) iglumut  ‘to a house’ h) pinna ‘that one up there’
b) ukiaq 1ate fall’ iy ani ‘female’s brother’

¢) aivig ‘walrus’ i) iglu ‘(snow)house’

d) aniguvit ‘if you leave’ k) panna ‘that place up there’
¢) aglu ‘seal’s breathi‘ng hole’ 1) aivug ‘she goes home'

fy iglumit  ‘from a house’ ~m) ini ‘place, spot’

g) anigavit ‘because you leave' n) ukiug ‘winter’

i) List all the minimal pairs in this data. Based on the minimal pairs you
have found, list all the contrastive pairs of vowels. (Refer to Section 1.1.)
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ii) - Using the vowe] charts in Figures 2.8 and 2.9 in Chapter 2 as your models,
make a chart of Inuktitut vowel phonemes.

ifi) Now consider the data again; here it is transcribed in narrower transcrip-
tion. In it, there are phoneucally sirnilar segments that are in complemen-
tary distribution. Look for them and then answer the question that follows
the data.

aa)} iglumut 'to a house’ hh) pinna  ‘thal one up Uiere’

- bb) ukiag . ‘late fall’ - ii} . am ‘female’s brother’
cC) aivig ‘walrus’ - ) iglo ‘(snow)house’
dd) aniguvit ~ ‘if you leave’ kk) panna ‘that place up there’
ee) aglo ‘seal’s breathing hole’ II) aivoq ‘she goes home’
ff) iglumit ‘from a house’ mmy) inr ‘place, spot’
gg) anigavit ‘because you leave’ nn} ukivg ‘winter’

iv) List the phonetically similar segments that are in complementary distribu-
tion. State their distribution in words. (Refer to Sections 2 and 3.}

Hindi (Hindi is a language of the Indo-European family spoken in India.)
Consider the segments [b] and {b] in the data below and answer the questions
that follow. The segment transcribed [b] is a murmured voiced stop.

a) [bara] ‘large’ f} [hed] ‘disagreement’
b} {bari] ‘heavy’ _ g} [bais] “twenty-two’
¢) Ibinaj ‘without” : " h) [bas] ‘buffalo’

d} [bir] ‘crowd’ - i} [bap] ‘father’

e) [bori] - —‘sackcloth’ i} [bag] ‘part’

- i) Are the segments [b] and [b] allophones of the same phoneme or do they
belong to separate phonemes? If you believe they belong to separate
phonemes, give evidence from the data to support your analysis. If you
believe they are allophones of the same phoneme, list the conditioning
environments. (Refer to Sections 2 and 3.)

. Mokilese (Mokilese is an Austronesian language of the South Pacific.)
Examine the following data from Mokilese carefuily, taking note of where

voiceless vowels occur,

a) pisan ‘full of leaves’ g) uduk ‘flesh’

b) tupykta ‘bought’ h) kaskas ‘to throw’

<) puko ‘basket’ _ i) poki ‘to strike something’
d) kisa ‘we two’ iy pil ‘water’

€) supwo firewood’ k} apid ‘outrigger support’
f) kamwokiti ‘to move’ 1} ludzuk ‘to tackle’

i} The vowel phonemes of Mokilese are /i € ¢ u 0 5 a/. In Mokilese, [i] is anr
allophone of /if, and [y] is an allophone of fu/. No other vowels have
voiceless allophones. State in words: the conditioning factors that account
for this distribution. Be as general as possible in referring to classes of
sounds. (Refer to Sections 2 and 3.)

ii) H you have completed the section on rule formalization, write a rule

{(using features) that accounts for the derived allophones. (Refer to Sections 5

and 6.3.)
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4. Gascon (Gascon is spoken in southwest France.)
The phones [b], {1, [d], [8], [g], and [y] are all found in Gascon, as the following exam-
ples show. I'he phone [B] is a voiced bilabial fricative; [y] is a voiced velar fricative. The
- phone [y} is a high tense front rounded vowel. (Refer to Sections 2 and 3.}

a) brén . ‘endanger’ n) gat ‘cat’

h)} bako - lcow’ : o) ling “long’

¢} {Umbro ‘shadow’ p) salipo ‘saliva’

d) krambo - ‘room’ . q) nofi ‘husband’
e} dilys ‘Monday’ _ r) afe ‘to have'

f) dipgko until’ s} fifaw ‘horse’

g) duso ‘sweet’ £) bydet - fgut’

h) taldepédn ‘leftover bread’ u) efado ‘hoe’

i)y plinde to lay cggs’ v} biyar ‘mosquito’
j} dudze ‘twelve’ W} riyut "he laughed’
k) quteza ‘flow’ X) agro ‘sour’ ’
1) éngwin ‘this year’ V) Zuyet ‘he played’
m) pude - 'to be able’

i) Group the six phones [b], [B], [d], 8], [g], and {y] into three pairs of
sounds. Within each pair, the two phones should be phonetically similar.
Describe the members of each pair phonetically in terms of place and -
manner of articulation and voicing.

ii) List the environments in which the phones Ibl, {81, [d], 18], Igl, and [y]
are found.  You may ignore word-final position in your consideration.

iij) What is the evidence, if any, for grouping the pairs of sounds into '
phonemes? State the evidence for each pair..

iv) Make a general statement about the patterning of the phonemes you have
established. '

v) Following your analysis, write the following forms in phonemic transcription.

a) [puyol b) [dedat] c) [[iBaw] d) [kramhbo]

5. Swampy Cree (Swampy Cree is a Native Canadian language of the Algonquian
family.} :
The following data from Swampy Cree shows a number .of different voiced and
voiceless consonantal segments. ' .
a) niska ‘goose’ I} nisto- ‘three’

b) kodak ‘another’ m} tfi:gahigan  ‘axe’
¢) asabamp ‘thread’ n) adim ‘dog’
d) wasko:w ‘cloud’ 0) mibit ‘tooth’
€) paskwarw ‘prairie’ p) pimi: Tard’
) ni:gi ‘my house’ " q) mide } ‘heart’
g) kowgoss ‘pig’ 1) - o:gik "‘these’
h) tahki ‘often’ 5) tfiimamn . ‘canoe’
iy namwartf ‘not at,all’ t) watbos ‘rabbit’
" ) ospwaigan ‘pipe’ u} natberw ‘man’
k) midzihtfij hand’ v) midziwin  ‘food’

i) Do [p] and {b] belong to seﬁarate phonemes, or are they allophones of
one phoneme? If you think they belong to separate phonemes, list data
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to support your case. If you think they are allophones, first state the con-
ditioning factors in words, and then, using features, write a rule that
accounts for their distribution. (Refer to Sections 2, 3, 5, and 6.3.}

i) Do the same for [t] and {d}, {k] and [g], and {tf] and {d3].

fii} Make a general statement abbut the relationship among ail the consonantal
pairs whose distribution you have examined.

iv) Using Figure 3.14 in Section 6.1 as your model, provide complete deriva-

tions of the forms for k) hand, m) axe, and o) tooth.

. There are a number of natural classes in the vowel and consonant data below.
- (Refer to Section 5, especially 5.1.) Circle three natural classes in each set of data.
Indicate which feature or features define the class, as in the example. The phone
Ix] is a voiceless velar fricative,

Example: {+vbi cel @ h _[—continuant]

a) i u b} p f k
e o ' dz

a f 6 f X

m n

. Name a single feature that distinguishes the following pairs of sounds. (Refer to
Section 5.)

a) [6] : [0] e bl :fm] i) [a] :[3]
b) [p] : [ Hsl -1 i [s} 10
o [u : [] g h -0 k) [e] :[e]
d [ - [e by K] :[g] D [uf :lo]

. Complete the feature matrix for each of the sounds indicated. The V abbreviates the
features [+syllabic, —consonantal], and the C abbreviates the features [—syllabic,
+consonantal]. (Refer to Section 5.)

a) [e] V b} {1 C ¢ m]_ C
+sonotant -sonorant +sonorant:’_
oDORSAL -voice OLABIAL
—high -nasal
i —low

d{s] C e) [d] C f) i
~sonorant —sonorant —syllabic
oCORONAL oDORSAL |:—con'sonantal]
| +strident +high

- English/Korean

As we have seen, phonological adaptation of loan words may reflect facts about
syllable structure. The Korean automobile name Hyundai has been adapted into
English in various ways, one of which follows. Given the Korean form and
the English adaptation provided, state two reasons based on syllable structure
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10.

11.

conditions that explain why the English form is pronounced the way it is. (Refer
to Section 4.}

Korean form English form
/hjande/ 3 /hande/ [handej]
English

Many speakers of English have two variants of {l}. One, called clear !, is transcribed
as [1] in the following data. The other, called dark I, is transcribed with [}. Use of
{I] and [¥] varies according to dialect. Examine the data from one dialect, and
answer the questions that follow.

a) [lajf] “life’ : ) [phit] “pill’
b) {lip] Teap’ h) [fit] ' ‘feel’
©) [zl ‘lose’ i) [hetp] ‘help’
d) [ilowp] ‘elope’ i} [baik] ‘bulk’
e) [dilajt] ‘delight’ ¥ [sowid] . ‘sold’
) [slip] ‘sleep’ 1) [fot] “Full’

Do [1] and [}] belong to separate phonemes or are they allophones of the same
phoneme? If you think they belong to separate phonemes, answer question i. If
you think they are allophones of the same phoneme, answer questions ii-iw.
(Refer to Section 2.) '

i) List the evidence that makes your case for considering [] and [t] as separate
phonemes.

i) State the distribution of [I} and [}] in words.

ifi} Which variant makes the best underlying form? Why?

iv) What role does syllable structure play in your distribution slatement? If you
have covered Section 6.1, write the distribution statement in rule form.

Canadian French _
For the purposes of this problem, you may assume that syllables in Canadian
French have the following structure:

* Maximum number of consonants in an onset: 2. Where there are two onset con-
sonants, the first must be an obstruent, the second a sonorant or a fricative.

« Fach vowel forms a syllable nucleus.

» Maximum number of consonants.in a coda; 2

With these stipulations in mind, syllabify the following forms (see Section 4):
a) bukan ‘smoke’ ¢} pudrori ‘snowstorm’
b) erite ‘to inherit’ d) plie 'to fold”

In the following data from Canadian French, each pair of phones is in comple-
mentary distribution,

[i] and [i} are allophones of one phoneme

[¥] and [v} are allophones of a second phoneme
[u] and [u] are allophories of a third phoneme

It is possible to make a general statement about the distribution of the vowel allo-
phones that accounts for all three phonemes [y] is a high, front, rounded, tense
vowel while {v] is a high, front, rounded, lax vowel.
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Examine the data and answer the questions that follow.

a) pilvi ‘pill’ o) fini ‘finished’

b} grife “td crunch’ p) - fy - lgirl’

¢ gryf ‘it crunches’ q) dzyr ~‘hard’

d) petsi ‘little (masc.)’ 1) trvke: ‘to fake’

e} potsit ‘little {fem.)’ sy fol ‘(a) crowd’

f) vitamin ‘vitamin’ t) plvs ‘more’

g) saly ‘hi’ u} ru ‘wheel’

h} zvp ‘skirt’ v} ot ‘Toad’

i) {fyme ‘smoke’ w) suva ‘often’

iy lynet ‘glasses’ X} trupo ‘herd’

k) tordzy “twisted” y) sup ‘flexible’

D lvn ‘moon’ 7y wf ‘touch’

m) pIp ‘pipe’ aa)} fu ‘crazy {masc.)”.

) grimas ‘grimace’ bb) trrk (a) trick’

i) Provide a statement of the distribution of [i] and [, {¥) and [¥], [u] and [v]
in words. Make your statement as general as possible, but be precise! (You
may find Section 4.5 helpful.)

it) It you have completed the section on rule formalization in Section 6.3,
write a single rule that derives the allophones of each phoneme from the
underlying form. Use features! Be sure to give your rule a name; use this
name in the answer to question iii.

fii) Provide derivations for the following uhderlying forms. (See Section 6.2.)
UR # # “vitamin’ # ‘glasses’
PR .| [vitamm] [lynet}

English

The following data contains both careful speech and fast speech forms. Note the dif-
ferences and answer the questions that follow. Some phonetic detail irrelevant to the

. question has been omitted from the transcription. Remember that an asterisk before

a form indicates that it is not acceptable to (most) native speakers.

a)
b)
)
d)
e)
f)

g)
h)
i)

i

Careful speech
[#sparan]
iprsalon]
[n#fanalijz]
[rizanabl]
frmaéd3zanativ]
{sépatabiliri]
[médad]
fiéjmoas]
[mémoaiijz]
[KPansidaréjfni

k)
b

Fast speech
[aspian]
[plislan]

m} [nzfnolajz]

n}
0)
p)
Q

s}
t)

[1iznab]]

[tmadznativ]

[séprabilrei]

fméBad] *[méad]

[féjmas] *[féjms]

[mémaidjz} *mémiijz)
[kPanstdazéjfn] *[kPansidiéjfn]

Spelled form
aspirin
porcelain
nationalize
reasonable
imaginative
separability
method
famous
memorize
consideration




CHAPTER THREE

i) The schwa deletion between the careful speech forms and the rapid speech
forms in Htems a-f is systematic. State in words the phonetic conditions
that account for the deletion. : :

i} The same pattern that occurs between the careful speech forms and the
rapid speech forms in items a—f does not occur in items £—j. State in words
the phonetic difference between these sets of forms that accounts for the
lack of schwa deletion.

iii} Now that you have taken items g-j into account, will you have to change
your original statement of the phonetic conditions governing schwa dele-
tion in the fast speech forms? If so, do this in words. _ .

iv) I you have completed the section on rule formalization in Section 6.3,
convert your statement in #ii into formal notation.

13. Change the following statements into rule notation. Be sure to name the process.
in question for each case. (Refer to Section 6.3.)
aj Voiceless stops become corresponding fricatives between vowels,
b) A schwa is inserted between a voiced stop and a word-final voiced fricative,
¢) Low unrounded vowels beconie rounded before m.

14. State each of the following rules in Eng]ish, making reference to natural classes
and common linguistic processes. (See Sections 5 and 6.)

Example: ~syllabic

+consonantal - @/ # (an obstruent is deleted
-soriorant word-finally)
a & - F+sy11abic
—conscnantal
+sonorant :
0DORSAL [ # —syllabic -syllabic
~high +consonantal +consonantal
-low ' -sonorant —sonorant
-back
| +tense ]

b) [ -syllabic
+consonarntal :
—sonorant —syllabic
-nasal -3 [+nasal] /. +consonantal
—continuant +sonorant
—delayed release- +iasal
+voice
O0CORONAL

| +anterior A

o) | +syllabic —syHabic —syllabic
—consonantal | — [+round] / | +consonantal +comnsonantal
| +sonorant OLABIAL oLABIAL




PHONOLOGY: THE FUNCTION AND PATTERNING OF SOUNDS

15. Tamil (Tamil is a Dravidian lgnguage spoken in South India and Sri Lanka.)
In the following Tamil data, some words begin with glides while others do not.
* The symbol {d] represents a voiced retroflex stop and the diacritic [_] indicates

dentals. v
Initial j-glide Initial w-glide No initial glide
a) jeli ‘ral’ fy wodi ‘break’ k) arivu ‘knowledge’
b) jix “fly’ g) wolaj ‘palm leaf’ Iy aintu ‘five’
<) jilaj ‘leaf’ h} wusi ‘needle’ mj aisaj ‘desire’
d) jepge: ‘where’ i) wujir ‘life’ n) amu  ‘river’
e) jiduppu  ‘waist’ i) womam ‘edge’ 0) awdi  ‘origin’
i) The occurrence of these glides is predictable. Using your knowledge of natu-

i)

ral classes, make a general statement about the distribution of the glides.
(Refer to Section 2.) _ _ _ '

Assuming the glides are not present in the underlying representations, name
the process that accounts for their presence in the phonetic forms. (Refer to
Seclion 6.3.)

For the Student Lingnist

For more food for thought on phonology, go to bedfordstmartins.com/

linguistics/phonology and click on For the Student Linguist.




